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irrational

rational

prime

integer

Which of the following is not the last digit of 3" for n as a positive integer? . 1% |
Wby, U e e

3 @ q' 1;,.:} 1 /}4 2 2 "9 7% i

5 9 -

- .

Which of the following is a linear polynomial?

x+45-43
V2x? —3x+4
Jx+5

Vx +2x

‘Which of the following is NOT a polynomial?
x2+2x+43

x+45-43

Jx+5

ﬁxz —3x+4

If o and B are zeroes of (2x+10)(3x+21), then the value of (a+p) is

12 ot g Faan AL sge %

e M

5 - : | ik
&

If @ and B are zeroes of x*+8x+15, then the value of (af) is
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If a, B, y are the roots of 3 +9x2+15x+21=0, then the value of (@f+By+y0) i ......
: B b('{’ﬂﬂ"!" )6~

VA .\I “t V"’
! g e A

If a, B, y are the roots of 2x>+4x+6=0, then the value of (apy) i8S -...:

i onF om' "’qk+€ o
6
5) v/

-3

.ﬁ»
¥

®

A
e
\},15 If a, B, y are the roots of 2x*+4x+6=0, then the value of (a+f+y) 1S ... ,

— S ) , L ;

C -3 . i

\)P/ 0 Q.4 3
1 4
y The cost of 3 bananas and 5 mangos is Rs. 50. If cost of 3 mangos and one banana is Rs. 26, :

A
\/B(

D
,/Ql{
‘/ﬁ?

C

D

i (S e L‘b ~1 4 24 = -.'
then what is the cost of a mango? g SL g F,ﬁ” /a8 H

Rs. 10 /2'1 ¥ v - - ™Y ,Uau?l,‘ﬁ ,. |
RS* < L9, 3+ g 250 20
1 2 b

/ -~

Rs. 7 I u"*' 7 \'r{“ﬂ; el
Rs. 13 P X 3}/

: AN ;J’fj dez © -\
; = N 14 j‘/'q ey
1

For what value of k, the system of equations /x+3y—7 kx+6y-14=0 has infinite number of
solutions? 3

0 'b ;,,,, e
}\1 o 2. et )

o

265 3D
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exceeds the given number by 27. The number s ........

B o 'x+y e a4 o F /J’HQ\‘ =NA
s S (9 7 Pt 4
25 b Y3%a

@ The sum of digits of a two digit number is 7. The number obtained by interchanging the dlgf%'s‘ f 3
A 34

N e
y Present age of a woman is 8 years more than double of age of her daughter. If present age of
daughter is 12 years, then present age of mom is........... ..years.
A 30 :
W 32
D 33
Q17 V2Vh1c3h of the following is the solution of the following system of equations:
By - N AV 2 Xt 9 T 4v =Yy
y L N -\ w =Yv 2z~ —LQ,L
. Jo—093 AR
A wt 22t |oV= S e
x=4,y=2 T,
=2 y=2 4.2 | [9"?
x=2,y=4 . A ?u-v!/»,i : x
x=4,y=4 | X & ) Ll : 1

......

g B abaD=ae ey pagati eSS
C 31 Ny 3 ) \o 2 = p /2o e a t r LW A S O ,
$rhy VA~ imia e Dok GER
- (Dt Lade
Q1 The area of a rectangle is 105 m”. The length of the rectangle is one more than twice of its
o N breadth. The breadth of rectangle is ....... 4 b

\/ 7m »’l‘_ J‘__L;l ng 2 !Q}J 17 E
B 15m - A4 L2 108 B
€ 20m 'l( [’O‘b %ftb \0; 1 = ‘+ ZLH i
Di .. 25m aope T 3

.'.‘1__,7

b+%“ —'hf’

\Mpich of the following series is NOT in AP? no
S a3 T L2 JTT O
% Lyt ’10,--- 0 - )/( : "".CL ] 7 ; S 3

Bas o B 5ORE B
G 0250.07,0:24,0126,+,% ¢ 3
DR (e o o
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/Qﬁ If the 3" and 9" terms of an AP are 4 and -8 respectively, which term of thls AP is zero?
A 6 term

, 1c = ( \
B 7th term 0 ’( Q'a j Y a Ul i CP
& ¢ , \
< Smterm G“ \ Cr (é -T2 -,;i I .
57 term 06 _(\ 5 B3 gc9 % " .
@%/ Let the 17" term of an AP exceeds its 10" term by 7. Which of the followmg is the common ! 4
dlfference of this AP? : |
A Tot ¥ ot yd)d =2
B 2 T) : { b ) oy
G -1 , 7
D -2 ,’ﬂ ‘ (Q/"C \ -\ ]"\ /) ‘}éz,\ 4 Y 3

‘ D
Two APs have the same common difference and the dlfference between their 11™ terms is 75,

Which of the followmg is the dﬁerence between their 101" terms?

A 750 K ) ok
;_’y"\ v P‘“ e ) o " } f QO
2 700 5;*, ) G2 ""(',1’0! ’T”.-. _ & | <
e B AN L p(o0d =/, ol N 3995
D 70 & G- Ve B A ot T

ol oRd { &t
\y/ Let the sum of the first 15 terms of an AP is 390 and s first term is 3 Which of the following

1s the difference between the 6™ and 5™ terms of thiz AP?

D 3

P S TR o

Ce 2 - . % 9L )
. ) £ fog +\Y g |2 - l !
C 5 v - F;_'“\L . i 8 1 o) ' =
D 6 A \\‘\j : - QLD

How many terms of the AP 9, 17 25 .. must be taken whmh gives a sum of 636?
2o 10 ) i ',
? ‘b Q 2 { ‘ le‘ O

5 B _ 1l 5(!““""’ $Ey ) ]
‘: ' - > " e ‘f,
s \’r”% | e

O
‘J&,ﬁ ro:‘m = | Qn A Qe

L6 a8 nhe -
: A sum of Rs. 70 s to be used to give cash prizes to seven students of a school for their

overall academic performance. Let each price is Rs. 20 less than its preceding prize. Which of
the following is the difference between first and last prizes?

Rs. 100 Do

L of the following term of the AP 121, 117, 113, ... is its first negative term?

404
T S
- Un-
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k)ﬁ/ Let AABC and ADEF are similar triangles and their areas are 64 cm 2and 121 em”

o gespectlvely IFEF =11 cm, then BC is equal to ........, m.
B ;
@ 7

o B

\))0/ Let AABC is an isosceles triangle with right angle at C. Which of the following identity is
o...

True? L, pcl C
\,B/ 2 4AC§ / /)@ ' ff—(—ﬁ "TLQ—H
AB?=2AC /S pet 7t o g
AC?=2AB? rEOn g r
D AC? = 4AB? L ; K3
@ Let in AABC, AB = 63 cm, BC = 6 cm, and AC = 12 cm. Which of the following is the E2
valoue of the angle B? ¢ @ 1 P 3'—2-
60 P ) ,«.;‘ 0. ) [ y ARVARR D A 4 % + q‘k
B 3¢° Yoo | s A=l e i &
@)\ C S:’ |

\/S/ 45 X | Ugd 4 24
900 (‘A"""""“ L ‘.'::‘ _}?;‘ M | ” 3™ o~ ] !
C g B el e

2 Which of the following point on the x axis is equldlstant from point (2 -5) and (-2, 9)?

G2 0) /o, -1 o Niies
s (7,0) (VI (*9 L-7T a
¢ (5,0) [P a b S 72 ) Y4 B
B (50 |0+ 2 =g )
3 For which of the following value o: ﬂ’lt.. y the distance between P(10, y) and Q(2 -3)is 10
unlt? e -3 ’ EY/s L }“"'
e AT A L ped AT ) teyal
B -5 o ‘ -9,
e 9 - Ky [rha ‘H‘(j $6 9234
D 9 o C,,', ) g % v :;,',‘4_ L ,( (\2 9= ®
Which of the following pomt dmdcs the line joining of pomts P(-1,7) and (4 -3) in the ratlo
‘ 23‘7 2
1 A M2 2 0?2
b (- go mat Pl xRS o
i -1, 3) A \M'; wet , S S
- d -3) Q_Xw W o L =

Wlneh of the following is the a’rea of the triangle form by the points A(S, 2), B(4 7). a

Ao oy )%%
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he value of cos 30 equal to...

sesssenan

A 1 gl;ﬁ}xo%—;\.
B Y = +

| - 9 to~ @)
‘y/;ftan0=l,then M.isequal {0 e, 9 t -6t
2siné —cos @ Soasnl

1 g SO *ﬁ; W " s
2 Zl‘ —J& N7 Q;jL 3 |
3 _ﬂﬁz’ﬂ/f T Rt ;.
_ (i

............
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The line segment joining the mid points of adjacent sides of
A rectangle
\/B/‘ square
& parallelogram
D rhombus

i

The line segments joining the midpoints of adjacent sides of a rectanglef
T

rectangle D iy
B square
(6 parallelogram
rhombus —t )

A_ g

\}A/ Let the radii of two circles are 10 cm and 5 cm respectively. Which of the follow i
radius of a circle whose circumference is equal to sum of the circumferences of thega

circles? RS

12 cm (ylfplﬁ yzo5$5

A
¢ i4em o o LS
P 15 cm i (@ 2 | ¥

e :
On increase of the radius of a circle by 10%, which of the following is the change in its

o
10% increase . KRE

20% increase Az :
\\'//E/ //\f‘,;(w@) 72 L @

21% increase
D 22% increase

. The length of a rectangle is 5 cm more than its breadth. If the perimeter of

\__~. cm,thenits areais ...............
50 cm® 2.2»‘}_- L.'? ?fq/(ﬁ‘cb)') 2?
B~ 150cm’ s/ q_gibggﬁ\) hom 18
C  100cm’ W (TR g RIS

60 cm’ Y N

The length of a rectangle is increases by 20% and its breadth is

change in its area? /‘ alx :
. ‘25 +‘° SR ‘ 3 /o

8% increase -

10% increase ih

20% increase
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" One card is drawn at random from a well-shuffled deck of 52 cards. What is the probabi

~ getting an ace?
A 1/3 Y s M
B 1/6 “ o\ SR oy

1/2

D 1 _

\))SO/A box contains 5 blue, 2 white, and 3 red marbles. If a marble is drawn at random from the

box, what is the probability that it will red?

A 5/10

B 2/10

e 310
D 7/10

1 The Boolean expression x(x+y) is equivalent to ...

A ] £
g L
\)% X -"}rpf.\o <Ir
D y e/ ,‘?9!
/62/ The Boolean expression (x.y’)" is equivalent {0 ......cc...cce. %
A X' + y' \ /" i - -
W [ o W /
\y x'+y C‘j; L * F OI_J
¢ e :X P ) ) ,{f W +g ~4 9
D Xohy d’—‘LCj '“ ka

ich of the following is a combinational circuit? ¢

ip Flop
Counter M
Register
Multiplexor

e

Which of the following is a sequential circuit?
Counter
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y/ JoyStick isa .. vl cviviinies device.

Y. Input

B Output

C 1/0

D Memory

\/Qs’/ Which of the following is an output device? » B
Keyboard f
Mouse
Projector
Trackball
} Qﬁ( OPerais @ .....ccceereeerverreerieee,

Operating System

\_\,\,B/ Web browser

Search Engine
Compiler

L/QSK Which of the following is a Web browser?

Safan

B 1 .

C BullGuard iR

D McAfee ‘}
Which of the following is an operating system?

A Opera

B Safari

\/C K42
BullGuard
\.}6/‘ Which of the followmg is a search engine?

Safari
Bing
Safari

K42

Which of the following is an object onentéd
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bits.

}\(l)hich of the following is decimal number equivalent to octal number (13)s?

‘ Ry
u 6 3% &
12 g+ =
13

Which of the following is decimal number equivalent to a number of radix 5 (22)s?
10

11 2% ke
12 a2 A

13 ot

Anl i 1s an intranet that is accessible to some people from outside the company.
Internet

extranet

LAN

Local-intranet

P . W PR

T

Which of the following is a Database Management System (DBMS)?

Bing

Ingres

Baidu

Safari 9
Which of the following is a Germany-based multinational software company?

Oracle il
AdObe ag" 3

SAP
HCL

Which data structure is used to implement a recursive function?
Stack

ollowing is the next term of the series: ABZ, BCY, CDX, .2
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) FXF
B FYF
¢ FYG
D FXG

A 9
B 10

11
D 12

4 Which of the following is the next number in the series: 1,4,9, 16, =2

A 24 2 S
B~ 25

C 26

D 27

5 Which of the following is the next term of the series: B;CD, C4DE, DoEF, EFG, .2

A Fa5GI ' Y 914 =5
B F1sGH
C E>sGH -
\D/ F»sGH I _ s
y/ .
Which of the following is the next term of the series: Z,A, YB,, XiC, WD, .2
(NS V% B
" ViE R
B V.G

(6 WIE
D VE,
e ,
7 Which of the following is the code of CAT in a coding scheme in which
A 2121 0D
| B 2130 AT = i
| B 2200 1

3120 R

Which of the following is the code of CD in a codi
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Milkis related to Goat in the same way as egg is related 1o .........

A Cow
B Bread
C Food

y Hen

\_@ Which of the following is the code of the JMI in a coding scheme in which CAT is coded to

SAD? 7 1 4
A M cF1 it
il crD TME oS
HMK T ) ( A $AD
\)3’ JIMK o M X S K12
g/hich of the following is the code of the DIG in a coding scheme in which BAD is coded to
AB?
CIG R A 0 L4
\y GID %'_) e alp
FID ‘
D CID
Q8 Which of the following is the code of the BAT in a coding scheme in which CAT is coded to
ACT? .
C K 38
A CAT o o | g R ’F
B TAB A= ‘
\y ABT
D ACT
A2y Gl

4  IfXY mean 2, CAT mean 3, lfGD_CA mean 5, then BAT is ............

If AB mean 3, BC mean 5, BD mean 6, then CAB is
) g—P{éL
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number of persons in the queue i N
18
19

= "_\,7:'5.“.\5.‘-

\ﬂg&/If" X is half of Y and Y is double of Z then

= YQ Q% e 2

& .%.

X=27/2
X=3Z |
X=7 Y= 2%

Which of the following is an odd figure?

Asif introduces Sidra as the sister of the only son of his father’s wife. How i
Asif’s mother? SRS w ' k.
Daughter A >

Sister

Mother
Niece

Which of the following word is most nearly the same in

Difficult
Pleasurable
_ Different

‘Which of the following word is most ne:

Scanned with CamScanner




) gamch of the following is correctly spelt word?
Z ariegn ;

B oein fr &Y™

. Foregn

D7 Foreign

@ Which of the following word is most nearly the opposite in meaning as the word
CERTAINLY?

\/ Possibly

B Surly
€ Definitely

D early
Mhich of the following word is most nearly the opposite in meaning as the word
ARTIFICIAL?

A Solid
B Pure r
(€ Unnatural '
/D' Natural :
7 Isawa........... of cow in the field. L

e herd
B group
€ swarm
D flock

During festivals the shops are ........... of people.

occupied

Handsomeisa..........
Noun

0  Which of the following is an adverb in the sentence "the house was spotlessly clean"?

essly
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